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INSTRUCTIONS
Answer afl questions,
All questions cavry equal marks,
Only one answer is 1o be given lor each question.
It more than one answers are marked, it would
be treated a5 wrong answer,
Fach question has four alternalive responscs
marked serially as 1, 2, 3, 4 You have to darken
only one cirels or bubble indicating the correct

answer on the Answer Sheet using BLUE BALL

POINT PEN.

1/3 part of the mark(s} of each question will

be deducted for each wrong answen (A wrong

NSV ST INeais n illcﬂl'l'ccl OISWEr O more lhill'l

one answers [or any guestion. Leaving all the

relevanl cireles o bubbles ol any guestion blank
will not be considered as wrong answer.)

The candidate should ensure that Serics Code off

the Question Paper Booklet and Answer- Shect

must be same afler opening the envelopes. In
case they are dilferent. a candidate must obtain
another Question Paper ol the same series.

Candidate himsell shall be responsible for

ensuring this.,

Mobile Phone or anyv other electronie gadget in

the examination hall is sirietly prohibited. A

candidate Tound with any of such objeclionable

material with him her will be strictly dealt as per
ruies. '

Please correetly Gl vour Roll Number in O.MR.

Sheet. 5 marks will be deducted for filling wrong

or incomplile Roll Namber.

Warning : 1t a candidate is found copying or i
any unauthorised matertal is found in
his her possession. FER. would be
iodged against liim her i the Police
Station and he'she would hable 1o be
proseciled under Scetion 3 of the

- R.EE. {(Prevention of Unfairmeans)
Act. 1992, Commission may also
debar himlher permanently Irom all
future  examinations of  the
Comnuission.
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1 Which one of the following algae possesses the largest thallus ?

(1) Laminaria (2) Macrocystis
(3) Porphyra | (4)  Sargassum
Freirfigs ¥ & 99 w91 g R6w drar A W o ¥7
() @frfar (2) #@HIGReY
(3) wRwET @) AT

2 Which one of the following algae is found in fresh water 7
(1) Chara (2)  lctocarpus
(3) [Tucus ' (4)y Polysiphonia

 Prefitm ¥ & @ e e S ¥ v S 37
" Fu (2) TFEEH

() wHFT (4) it
3 An alga belonging to Rhodophyceal and found in fresh water is -
(1)  Batracospermim (2) Gelidium
(3)  Gracillaria (4) Polvsiphonia
JSTHEE) & UE e, o @O wa H e Ser g o
(1) Izmprady (2) Sy

(3) z?ﬁiﬁﬁvr | (4)  gIErgIEHiar

4 Pond silk 1s -
(1)- Spirogyra (2)  Ulothrix
(3) taucheria - 4y lolvox

T B AEH T -

(1) wEmET ' 2) g

(3) gsIRwr (4)  aieaiaq
5 Non-motile gametes are found in - :
(1) Chlorophyceae ' (2) Chrysophyceae
(3) Phaeophyceae (4) Rhodophyceae
| 3EW gE T W T

(1) T ®EEr o (2) iﬁ]‘s‘ﬁ‘mﬂsﬁrfi
(3) fromEdrd (4) TsreEd H
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6 Zoosporeq having a crown of flagella are found n -

(1) Acetabularic (2)  Chlorella
(3) Oedogoninm 4y v
wNfieIel & Yo A g@ Gy U S E
(1) ghedgafar (2) T
(3) ST (4) eomar W

7 Main photosynthetic pigment of phaeophyceae is - |
(1) Fucoxanthin (2) Phycocyanin
(3} Phycoerythrin (4) Xanthophyll

RSEEeT &1 qer WHeT Hewsl auids sidl € -
(1) TgEaT (2) WEBHEENT
(3) TIEHISIUYT ' (4) F=iftee

8 Reserve food found is Rhodophycea’e is -

(1) Cellulose (2) Floridean starch
(3) Glycogen (4) Protein
Jeierd! ¥ dhaa G w @@ §
(1) e & &9 | () w’rﬁ%mwﬁ%mﬁ
(3) ARG & ®Y H (4)y UM & ®9H
9  Which one of the following is a parasttic alga found on the leaves of tea and
coffee ? :
(1}  Cephalenros species (2)  Comdrus species
(3y Ulothrix species ' (4) lolvox species
ﬁﬁ%ﬁiﬂﬁﬁﬁﬂﬂﬁqﬁﬁﬁmwaﬁﬂmWﬁww
T § 7
(1) Rrsfraria wety (2)  @igy y=it
(3) aga?ﬁzw NG (4) Fiearad WS

¢ Which one of the fol]owmg photosyntheuo pigment is found in cyanophyceae
members ?

(1) Anthocyanin ' (2) Betacyanin

(3) Fucoxanthin (4) Phycocyanin
ﬁmﬁf@awmma@rmﬁn%mmm&av@wﬁaﬁﬁw
E1GI

't zmﬁmsﬁ:r (2) aci‘{l'ﬂ'l's‘{ﬁ?
3) W (4) mma%ﬂﬁllﬁ
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11 Sexual reproduction does not oceur in

(1y  Nitella (2) Nostoc

(3) Oedogonium (4) Faucheria
ST S TE W S ¥

(1) 7rEar | (2) il ™
) wemfETy (@) arodfar ¥

12 Which one of the tfollowing photosynthetic pigments are found in all
photosynthetic algae ?

(1)  Chlorophyll a and tucoxanthin .
. (2) Chlorophyll b and phyéocyanin
(3) Chlorophyll a and betacarotene
(4) Chiorophyli b and xanthophyll
Prafafag & & ®F @ Yery dyau guie @ W deerw Sl o
g W €7 ' '
(1) aArdfes a o TGO
(2) FOARBA b & GIEFHHEMT
(G) wAAREA a9 AT
(4) SRTEE b  Salfted

13 In which one of the algae classes para-séxuality is found ?

{1) Cyanophyceae {2) Phaeophybeae
t3) Rhodéphyceae | | (4) Xanthophyceae
fre St af § g Afwar O S 7
(1) wrgramEE (2) Tramsme
(3) ISrwEH o (4)  SraTwTEEr
14 Study of Fungi is known as -
(1) Morphology (2) Mycology
(3) Phycology | {(4) Physiology
() el @) T
(3) W (4) Refrarers T
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15 Downy mildew is caused by species of -

(1) Alhugo : (2)  Aspergifius
(3) Peronospora (4) Phytophthora
(1) gogrtweirfd a1 (2)  g@Efdfag gy &

(3) SR T BT (4) BrEEIFT U BRI

16 . Afalotoxins are produced by the species of -
A1) Alternaria (2)  Aspergillus
(3) Bacteria (4)  Nematode
U@ S0+ 8id & - .
(1) @reviRyr vofg € (2) g@doe g g ®/
(3) T T & (4) FrHels yentg |

17 Lichens are an example of - ’
(1} Parasitic relations between tungi and bacteria
(2) Symbiotic relations between fungi and bacteria
(3) Parasitic relations between fu.ngi and algae
(4) Symbiotic relations between fungi and algae

(1'} Hahi 9 FEUS % A U gl &
(2) @IS T WS % HH FEWAG GGl &
(3) HaBI T A b wed wyeiier wdl %
(4) wawt @ fame B v g w &

18  Wart disease of Potato is caused by the infection of -

(V)  Phyrophthora species
(2)  Pythium species
(3)  Sclerospora species
(4)  Synchyirium species
e BT I AT Bar ¥ -

(1) BETEYRT YW % HRE9 & B
(2)  wEFET USid &6 GHmE &% &I
(3) I TS E F GHHN F B
&)  FeEfzar woid & HHE9 & BRl
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19 Reproduction in Lichens takes place by formation of -

(1) Conidia (2) Gonidia
(3) Soredia - {4) Oidia
WEFT § S &g MHE B9 €
(1) =it (2) =
(3) wRfEar . (4) oirgfear
20 Pezizer belongs to class - _
(1) Ascomycetes (2) Basidiomycetes
(3) Deuteromucetes (4) Phycomycetes
Frsgen wwre Y@l §

(1) ueRmEReE @t | 2) afefemeie ot 4
(3) sgeimERES @t ¥ (4) wEHEEESw T o

21  Nutrition in Mucor is of -

(1) Autotrophic type (2). Parasitic type

(3) Saprophytic type (4) Sylﬁbiotic type

(1) T WeBTT H1 ~(2) UeldY W @I

(3) gouSdl ¥ H (4) TEAEl GHR Bl
22 Fruiting body of Peniciflinm s -

(l). Apothecium {2) Cleistothecium

(3) Hypothecium (4) Perithecium

IFfaferaT @1 e B Bl 87

(1) udvefaas () T

(3) wEurHdiiaE BEORRELSRL

23  Tikka disease occurs in _
(1) Groundnut (2) Paddy

(3) Pearl-millet ) (4)  Sugarcane
(1) Hawsr o Q) "EH
G T 4) = H

OP18_A] | 6 MUY TConed.



24 Coletorichum is classified in class -

(1) Ascomycetes - (2) Basidiomycetes
(3) Denteromycetes (4) Phycomycetes
FleTeiZIz®HT aiiga e @ ¥ |

(1) RS ¥ (2) iR &
3) STEUERREES @t o (4) wEHEERAS T o

25  Blast of Paddy is caused by - |
(1) Alternaria species (2) Coletotrichum species
(3) [usarium species _ (4)  Pyricularia species |
(1) omreifRer ooty 20 (2)  BirEiziEdd St &
(3) W@y yenta & 4y wERegefEr vt &

26 Which one of the following human disease is caused by fungi ?

(1) AIDS ~ {(2) Cholera

(3) Ringworm ' (4) Tuberculosis
fFrefifas & & Fam st Ame 4T BE-a ¥ 7
(1) usa | (2) W0

() =IE (4) &g A

27 Reserve food in fungi is generally in the form of -

(1) Glycogen (2) Fat

(3) Protein : 4) Starch

Hah N ST WIS TE A ¥ -

(1) vegaSeT % &9 (2) T % wY F
(3) W FH wwH (4) w=d & T A

28  Simplest type of spofophyte among Bryophytes is found in -

(1) Anthoceros | (2) Funaria

(3) Marchantia (4) Riccia
am‘nmsﬁ o GIEAH YHK H1 AGUEE U S E —
(1) TR ® 2)  wERErH

(3) " frEr A | (4) Riwgar o
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29  Cup-like structure on the apical part of the capsule of mosses is known as -

(1)  Annulus (2) Operculum

(3) Peristome @) Theca

Tt T 3 R F SiRY WIT U UTE T AT ARGHT SR BEidl €
(1) TIoE (2) oagwH

(3) ufcem (4) v

30 Which one of the following Bryophyte is known as Peat Moss ?

(1Y [unaria - (2)  Pellia

(3) Porella (4y Sphagnum
frefiaa # ¥ S-G9 qEGREe G A48 FHEe § 7
(v wgfar (2) dferar

(3) urea (4) @

31  Antherozoids of f“wnaria are -
(1) Uniflagellated and coiled
(2) Uniﬂage]]ated and uncoiled
(3) Biflagellated and coiled
(4) Biflagellated and uncoiled
(1) us-weive & Fusiad
2) Um-wmeiies wd s
(3) Te-wmivew wd pusfaa |
@) fr-wafve od srgusia

32 which one of the following 1s a true moss 7

(1) Bog moss (2) Club moss

(3) Irish inoss : (4) Reindeer moss
Tefatad W @ e e B A §?

(1) = g (2) 9 A

(3) ematte =7 (4) = =g

OP18_Al - 3 AR A 1Contd...



33 In which of the following plant groups, sporophyte is dependent on
gametiphytic generation ? '

(1) Algae (2) Bryophyta

(3) Fungi (4) Pteridophyta

Prefefaa wey @ § & Rew wiE § gemighi 9w demeiie fei
wE B -

(1) samr o (2) FRIGRI ¥

(3) o H (4) <feEtwme o

34 True Elaters are found in -

(1) Anthoceros

(2)  Cythodium

(3) AMarchantia

(4) Polytrichum

(1) uifog o

(2) wguieaT ®

(3) wFrEr W

(4) widiZEET 9

35 Azollais a/ an
(1) Alga ' - (2)  Bacterium
{(3) Moss (4) Fern
OREIEIS] (2) @y
(3) | _ (4) wH

36  The number of neck canal cells in the archegonium of Marsilea 1s -

(1} One (2) Two
(3) Three (4) Four
grifferar & e ¥ Men A wfiverel # wen & ¥
(1) s @ & |
(3) @ (4) =T

0P8 A 0 MR (Consa..



37

39

A0

the cametophytic generation of a fern plant is termed as -

{1y  Prothallus © (2) Sorus

{3) Sporangium (4) Zygote

T UIRT W] HEREIHE Wel HEER

(1) wiwE (2) W (S gw)
(3)  dreropEr (4) - TS

Rhizophore is present in -

(1) lquisetnm (2)  [Isoctes
(3)  Selaginella &4 Swiitis

(1) sFEeg o (2) omEEElea §
(3) fadfFFar w 4) @EaRlg

Sporocarp is found in

(13 Lguniseanm and fsoetes

(2)  Lycopodium and Marrattia
{3V Preridinm and Preris

(Y Subvinia and Marsifea

Y qET @Y -
() zegrdler 9 omEdiiza «
(2) #rEwmEieaT 9 Ffeer o
(3; oy g o ' . ' -
(4 @ifEfara ol § |

Independent gametophytic and sporophytic uencratlons with heteromorphic
aiternation of generations is a characteristic feature of

(1) Anglosperms (2) Bryophytes

:3} Gyminosperms (4) Pteridophbytes

U AT e @Al aied @asl S9 geeiE 9 Eh?iTTﬁTE{ T
F] T wE, Tafie wer ¥

L]

BRI G e | (2) “f;m“rqa—:’z-,_'ﬁ @7
(33 TR=rEH @ (4y NEwEeg @1

orts | IR T 1Conte..



41  Which one of the following is commonly known as "quill-wort" or
"Merlin's grass" 7

(1) Isoetes (2) lycopodinm

(3) Muarsilea (4y Selaginella

frefiflae & @ 6 “fEw - 987 ste AT TR 6 AW ¥ FEROwE
AT ST ¢ 7

(1) argaisies (2) @RI

(3) ardiferar (4) Rydforrar

42  Development of gametophyte from the spore mother cell directly, without
melosis, is known as '

(1) Apogamy (2) Apospory
(3) Amphimixis - {4y  Apomixis

e e fawme gl Iy A @i @ @S 6 geegie & fwam
B, HEAET € — ' .

(1) e @ o
(3) wEmHRFEE () wmitHfem
43 In which group, you will classify a plant, which produces seeds but no
pericarp 7 ‘
(1) Angiosperms (2) Gymnosperms
(3) Pteridophyta {(4) Thallophyta

% O TRY @, S G S Bl §, Uiy BAmR q8 9 @,
oY omg fop T o aiiga w7

(1) ufsEent o (2) Tr=rerd o

(3) <fErwr o (4) &ereEe

44  First cells of Gametophytic generation in Pinus are fepresemed by
(1) Male and female cones
(2) Migcrospore and megaspore mother cells 7

(3) Microspores and megaspores

(4) Microsporophylls and megasporophylls

qrEe W g W B wem B Fela il d -

(1) 9% wd weT gigen & g

(2) g T ey A wEel % ww A

(3) wgdet o edTet % s A

(4) wedsTE O edsgel & €9 §

OP18 Al - 1 UM 1Coned:-



45 The only method of pollination in gymnosperms is by

(1) Air (2)  Animals
(3) Insects (4) Water
e o o @ ww A Rl S ¥

(1) =g 5T (2) wgEl &
() @ g - 4) =@ Ea

46  In Cycas, pollen grains are shed at - .
(1) 1 - celled stage (2) 2 - celled stage

(3) 3 - celled stage (4) 4 - celled stage

mﬁﬁ,wmwﬁmﬁ%_-— |
() 1 - @l smen . (2) 2 - ®eT ereaen A
(3) 3 - HIyTET eraRem § (4y 4 - wfyEr oy

47 - Wings in FPinus seeds develop from -

(1) Bract scales (2) Cone axis

(3) Integuments of seeds (4) Owuliferous scales
g 3 At ¥t o ey -

(1) €39 9Tl o (2) 9@ - g & _
(3) dromered @ (4) dromEER gt &

48  Endosperm of gymnosperms is

(1) Haploid ' (2) Diploid
(3) Triploid “4) Tetraploid
- frrEd @ g g ® -

ORI S LC (2) fair

(3) B - @ wgife
49 Number of cotyledons in the seed of Pinus is -

(1) One (2} Two

(3) Three - {(4) Many . |

75T % A H SSas B g wdr ¥ -

(1) T @ =

(3) (4) ori®

OPI8_Al 12 RGN [Conta-



. 50 In which of the following plants, the largest sized antherozoids are found ?

C (1) Cedrus (2) Cycas
(3) Lphedra (4) Pinus
Preafifae & 4 fog weT ¥ wad ¥ omeR ¥ YA o W ¥
(1) Reww (2) uEFHY
(3) ghgr A (@) v A

51 Female gemetophyte of Angiosperms is known as

(1) Embryo sac {(2) Endosperm
(3) Stigma B () Style
ATASTIEl B TR JOERENE HEE § -
(1) ¥ B (2) oo
3) aidsrr (4) afdmr

52 Double fertilizations is characteristic feature of

| (1) Angiosperms (2) Bryophyta

(3) Gymnosperms | o (4) Pteridophyta
fafriem fafie e & -
(1) afwrarad @ () HETEEEr @
(3) Foreret w1 (4) 2fErega &1

53 In an Angiospermic plant, the maximum haploid cells are founld in -
(1) Cambium (2) Owvule
(3) Pollen chamber ~ (4) Root apex
() uwnH @) dnmme H

() W oEs A @) Tar A

54  Which one of the following is not found is a staminate flower ?

(1) Calyx (2) - Corolla

(3) Gynoccium {(4) Pedical

TF X g refied § W o @ e S g
() s 35 - (2) TGS

(3) i @) g

orisAl 13 LW (Coned...



35

57

58

59
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Egg apparatus is made of - _

(3) Egg and polar nuclei (4) Egg and synergids

&vS TgeId 99 ST ¥ - .

(1) Had g & (2) vE ud gRAgEr eifdeen o
@G) ove Ud AT TEE BT (4) oS QF wed B @

The inner most layer of pollen chamber wall is known as -

(1) Endothecium "~ (2) Endothelium

(3) Middle layer (4) Tapetum

W HE H Fay AT W HeAR & -

(1) o wiifEm (2) o= ofifrem

(3) W W @)

In angiosperms, Germ pores are fouﬁd in -

(1) Megaspores (2) Microspores

(3) Owvules - (4 Seeds

TR e § s fow TR o § -

(1) edray o (2) sy &

() st 7 4 @A

The common type of ovule found in angiosperms is -

(1) Anatropous type (2) Circinotropous type

(3) Hemianatropous type (4) Orthotropous type

oy drshret F AT T A S AT Sewe g -

(1)' g TER w0 (2) gz—ugf%ﬁmm'cm
(3) edudmwER ® () W THER @B

At the time of entry into the embryo sac, pollen tube has -

(1) 1 - gametic nucleus (2) 2 - gametic nuclei
(3) 3 - gametic nuclet (4) 4 - gametic nuclei

YU W TEe % 9, W T ¥ ¥ -

() 1-7m &=s - (2) 2 - JHH BEd
(3) 3 - gHH FEE (4) 4 - TTEH FEE
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63

64

Pollen grains get preserved for a very long period without decay, because of
the presence of '

(1) Carotenoids 2) Cellulose

(3) Sporopolienin ~(4)  Ubisch bodies

T @, Tga A Srafy qe URITRTT R Y@ UK ¥, i 5 U Uk
BT -

(1) Hafefesd (2) degEr

(3) =R 4y gfagr furs

Ubisch bodies are secreted by

(1) Exine _ (2) Intine

(3) Pollen kitt | (4y Tapetum

giag el = SE E R -

(1) 9Eg 9w § (2) ¥ = d

(3) e feez @ (4) s ¥

In angiosperm, Pollen grains are mostly shed from the anther at
(1) One celled stage (2) Two celled stage

(3) Three celled stage (4) Four celled stage
At el § qom B aifueie a weee P ¥ -
(1) F Bl o ¥ (2) < st e &

(3) T BislE o & @) = el o ¥

Obturator in ovule is generally derived from -

(1) Funiculus (2) Integument

(3) Nucellus (4) Placenta
fve ¥ AgE B AR T HES B & -

(1) sy | | 2) dESERT §
(3) drvEEE ° (4) SeveET |
Filiform apparatus is found in -

(1) Antipodal celis | (2) Egg cell _
(3) Secondary nucleus (4) Synergids

(1) uhgdr sifiemey (2) e B
(3) fTafras Few A 4 I sl ¥

OP18_Al o S AR ORI (Cona...



65 Herkogamy is found in -

{1} Bajra (2) Brinjal
(3) Cdlotropis 4) Cocculus
(1) a=aH (2) ¥
(3) @wizifrg ® 4y @igag d
66  Pollination by bats is termed as -
(1) Cheiropterophilly "~ (2) Entomophilly
(3) - Malacophilly (4)  Ornithophilly
(h @Erne (2) TETE

(3) WwwIiET | (4) Sreeiedr

67 How many nuclei are invoived in the process of double fertilization in a
typical angiosperm ?

(1) Two ' (2) Three

(3) Four (4) Five

% el sngaasn § fetem wlpm ¥ e Sewm e ¥ 7
() & (2) @

(3) =T _ (4) wE

68 The covering of radicle is known as -

(1) Coleoptile (2) Coleorrhiza
(3) Epicotyl (4) Scutellum
AP B WA HEACT & — |
() wipTaEw @ g
(3) dowieiE (@) g
69  When pollen tube enters an ovule through the micropyle, it is known as -
{1) Chalazogamy : (2) Mesogamy -
(3) Porogamy ) Siphonogamy
| T T AT w1 O dionvs ¥ g3y, devs R @ 2 3, a8 Feerar § -
(1) Fraria g3y (2) W& FIY
(3) dwmgETi vdw (4) Y A

oA s NI Cone...



70  Polyembryony is commonly found in -

(1y Citrus {(2) Mango
(3) Potato (4) Whegt
(1) Fg - (2) mF
(3) o ¥ @ TEHA
71  Ruminate endosperm is found in - _
(1) Apium (2) Aristolochia
(3) Saraca 4)  Solanum
RIS oI T S e - |
(1) By & (2) it §
(3) grasr o @) wETH

72  Mosaic endosperm is characteristic feature -of

(1) Phoenix (2) Ricinus
(3) Triticum 4) Zea
Wt yom fifie @ -
1) Pefmge Q) RRmT #1
() RfwT @ (4) ~ forar &

73  Perisperm is remanent of _
(1) Endosperm {2) Endothecium
(3) Owule {4y Nuceilus
fymay sEfie sm ¥ -
(1) YUy & (2) = e &1
(3) AT F (4) dsvEEE

74  After fertilization, which structure develops into a seed ?
(1) Esgg (2) Ovary
(3) Owule (4) Zygote _
PEd Iqa BE-d G 9w % ' 7 Reita ek &7
(1) &vs (2) V™
@) s 4 g

OPI18_Al | 7 NI 1Coned...
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77

78

Circinotropous ovule is found in -

(1) Maha (2)  Opuntia

(3) Polygorum (4) Kaphanus
gpvafira o, T S ¥ -

() arear § (2) oitafesrar #

() e H (4) TgH

If endc;sperm cells of Capsella plant has 24 chromosomes, the number of"
chromosomes in its root cells will be -

(1y 8 - 2y 16

(3) 24 4 32

afy deder aEw & T Wil § st @ e 24 @ @ 59 e @
I hifvnie  qURET @l de v -

(1) @&me (2) dres

Gy WEE @) W

What are the essential pﬁrts of a flower ?

(1) Androecium and gynoecium

(2) Andrbecium and corolla

(3) Calyx and corolla

(4) Calyx and epicalyx

e o7 % HATE9TH HIT T B &7

(1) g i s

(2) gHT Ud T@gW

(3) IRRAYT TH TAYW

(4) SEIIAYS UY STIuTEEwy S

Development of embryo without fertilization is known as
(1) Adventive embryony (2) Amphimixis

(3) Parthenocarpy | (4) Parthenogenesis
Priver % A1 € 9o @1 Rrebrg dweEr

(1) orueeE T (2) 9T Tz

(3)  sifmEe @ wPRwe

OPI8 Al | I NN 1Contd...



79  Synergids are

(1) Haploid (2) Diploid
(3) Triplod (4) Hexaploid

| e WA el ¥ - |
(1) e | @ fagfme
(3) Pryfw ) e

80  Anthesis is -

(1) Anther development (2) Flower bud formation
(3) Opening of flower (4) Shedding of floral parts
(1) wRrTety e | (2) g Hfaw Fmfe
(3) T & Rge (4) g WO & FwE

81 Maximum success in androgenesis is obtained in the members of
(1) Asteraceae
(2) Brassicaceae
(3) Malvaceae
(4) Solanaceae
oA ¥ Fatiue d%adl W Sl & -
() wed & el ¥
(2) wfurdl & wer o
(3) W ¥ ogedl |
(4) dd & e |

82 Development of embryoid from pollen grains was observed for the first

_ time in
(1) Brassica ' (2) Datura
3) . Foeniculum (4) Hordeum
RIS W YOI i e geweH Sewiha g -
(1) &fyer o () sTIH
() W A @ e

OP18 Al 19 ~ [NGEN AN tomed...



83 Cybrid is produced in -

(1)~ Anther culture (2) Embryo culture
(3) Owule culture . - N ) Protoplast'culture
qiEhrs ow 89 ¥ - |

(1) WIeE gaydqT o (2) 9 ga¥T o

(3) dve waYdE W (4) wiages dad+9 §

84 Xenia is effect of pollen on

{1) Endosperm {2) Floﬁrer

(3) Nucellus ‘ (4) Root

R IO A §, T B

(1) YUY 9X 99 (2) go1 X 9WE

(3) dISvERE W YWE - (4) W W AN

85 The main pressure responsible for water absorption in a living cell is -

(1) Diffusion pressure deficit (2) Osmotic pressure

(3) Turgor pressure (4) Wall pressure
el Hifyent ¥ Wer oragiwer ¥ IAERl ww 99 § -
(1) e eE g (2) TEUE &N
G) W e @) i T

86 In plant cell, osmotic pressure is equal to
(1) Diffusion pressure deficit - Turgor pressure
(2) Diftusion préssure deficit + Turgor pressure
(3) Turgor pressure - Diffuston pressure

(4). Turgor pressure + Diffusion pressure

RY BT F IO T RhEE TOET e & -
(1y FoeRo a9 g - iR 3 &

(2) TEEIe T A + Wi I9 &

(3) W ae - P 2

(4) Ty T + TqEeer a@ &

OPIs Al - IR (Conta..
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91

The pressure on cell wail produced due to swelling of vacuole is known as -

(1) Diffusion pressure {2) Osmotic pressure

(3) Turgor pressure {4) Wall pressure

el & Hee ux i i uT e T T @ wed €
(1) Frer e 2) e T

(3) wwiia ™ (4) fwfa e

Seeds kept in water swell due to

(1) Absorption (2) Imbibition

(3} Osmosis (4) Plasmolysis

A T 9 di g o

(1)  Srg9maor % B (2) o 99U & BT
(3) TEERO % @Re (4) Sews FET & HI

The process in which the molecules of solute move from the area of its higher
congentration towards the area of lower concentration, is known as -

(1) Diftusion (2) Osmosis
(3) Transpiration "~ (4) Evaporation
g Topay oo fada & a1y SToet offres | 9 &9 § &9 arEdl 9 &l

(1) feaezo (2) UTEI

(3) aTeTiEst (4) aTARBTOT
Plasmolysis takes place due to

(1) Endo-osmosis {2) Exo-osmosis

(3) Diffuston (4) Imbibition

Wi & §aT Bl § -

(1) or: qUERT & HROT (2) AR TTEROT % HR
3) fEra & s (4) o=T gl & BT
Temperature of leaves is controlled by -

(1) Absorption ~(2) QGuttation

(3) Respiration _ (4) Transpiration

(1) smasio gy (2) frgem =z

(3)  gEE B C(4) =it 72w

OP18_Al R NN 1<one...
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Guard cells differ from adjacent epidermal cells because they have
(1) Chloroplasts (2) Mitochondia
(3) Nucleus {4) = Vacuoles

IE HIIHT, ﬁmﬁwama?ﬁéﬁmaﬁ@fﬁmé‘cﬁ% a%ﬁféﬁtﬁ'ﬁ
T/ BN

(1) =i was - (2) wgTmitEgE

(5) w=Hm (4y Niemen

Guttation takes place due to

(1} Imbibition (2) Osmosis

(3) Root pressure (4) Transipiration

farg o e &7

(1) o S99 % ®reor (2) TET F FRO
(3) T TG F BRI ©(4)  ITHRESIT % @I
The water potential and osmotic potential of pure water are respectively -
(1) 100 and 100 : (2) 100 and Zero

(3) Zero and 100 - (4 Zero and Zero

Y& 0w S fava g qreet v wase g g -
(1) 1007 100 (2) 1009 =

3y = a100 (4y ST and A

Rate of transpiration is measured by -

{1) Porometer (2) Potometer

(3) Hygrometer (4) Manometer
IS BT TX BT AU AT T E -

(1) TRHRT (2) UEMERI ERI

iy ERTRET BT (4) wAAET E
"Khaira Disease of Rice" is caused due to

(1) Deficiency of zinc (2) Deficiency of molybdenum
{3) Infection of Bacteria (4) Infection of Fungi

(1) 5w & &9 & e (2) WIS B FH F FRO
Srarupat & WHHY & F (4)  HIH! B GHHU & BRI



97  Which one of the following elements is a micro nutrient for plant growth ?

(1) Caicium (2) Manganese
(3) Phosphorus © (4) Sulphur
frefafias o § § &9 9 g F o g Ove e g v
(1) wiwaam 2) A= |
(3) ®IERE (@) Tl
98  Which one oftile following elements is required in the largest quaniities by
plants 7
(1} Caleium (2) Mangesium
(3) Nitrogen (4) Hydrogen
ffifiar ¥ & -8 o B TRW ® waitee T ¥ sTEyEEd AT § ¢
(1) wivaay : (2) TRl
(3) gL (4) FTIZINT
99  Which element is essential for the synthesis of Auxin ?
(1) Phosphorus (2) Potassium
(3) Sulphur (4) Zine
arfferae deduv &g bW @ @i ofiTardar B &7
(1) WiERTg (2) e
(3) wWEWY (4) s

100 Immature leaves start falling due to deficiency of -
(1)  Phosphorus ‘ (2)  Sodium
() Sulphur (4)  Zinc
arqfraerr ofaat frey &l & - |
(1) TWITHITT & &t BIROT  (2) H|ITESHH B U & Hiew
(3) AFHT B FA B B (4) T & ®U & B

101 Which molecule connects glycolysis and Krebs cycle ?
(1) Acetyl Co-A (2) Citric acid
(3) Osalo acetic acid (4)  Succinyl Co-A
ﬁm'mwmﬁfﬂﬂéﬁmwﬁﬁﬁsﬁ%?
(1) Thewd®l T=Re U (2) uEle e
(3) offesiar ufafew org (4) wirRmRE @Y uemEA @

or1s Al B e



102 Universal acceptor of hydrogen in respiration is

() ADP 2) Co-A
(3) FAD - (4) NAD
g § TR o wEneE I ¥ -

(1) ADP | (2) Co-A
(3) FAD ~ (4) NAD

103 How many AP molecules are produced for every glucose molecuie consumed
in aercbic respiration ?

(1) 32 (2) 34

(3) 36 (4 38

A e ¥ YR wms b Uaw o] ¥ PR ATP e sww
g %7 o

(1) 32 (2) 34

{3) 36 (4) 38

104 Which éile of the following is. final acceptor'of electrons in respiration 7
(1) Cytochrome
(2) Dehydrogenase
(3) Oxygen
(4) Vitamin - K
frfafaa & & sogq § gogzml &1 offeaw T @I &7

¢S Hﬁtﬁzﬁ‘ré
(2) SwrgifEe
(3) - SN
(4) faaim - &

105 Site of glycolysis in a cell is

(1) Cytoplasm . (2) Chloroplast
(3) Mitochondria (4) Ribosome

% BT & TAEHEEY B W § -

(1) =ity g= ‘ (2) s wa=w

(3) eI (4) e

OP18 A B R 1Coned...



106 in Krebs cycle, the hydrogen atoms, liberated from succinic acid are
' accepted by - :

(1) ADP (@) ATP
(3) FAD (4) NAD
ey T ¥ AR opd ¥ Qe 5 SEDEH UCSl @ TEw wi § -
(1) ADP (2) ATP
(3) FAD (4) NAD

107 Which one of the following is the only molecule having five carbon atoms
in Krebs cycle 7

(1) Acetyl Co - A (2) Alfa - keto glutaric acid

(3) Cis - Aconitic acid {4) Oxalo - Acetic acid

Srefafis ¥ ¥ e T & wEAS Av) we-w ¥, e o wea & Wy
RN

(1) ufgerge & GNEE - U (2) TEE - HI G o

(3) Tag - wmitifem s (4) ovSw - ClieE e

108 Intra - molecular i‘espiratioﬁ is -
(1) Aerobic respiration
(2} Anacrobic respiration
(3) Floating respiration
{4) Protoplasmic respiration
gTwt: -~ STve YEE el ¥
(1) agam 98+
(2)  SrErgEE sae
(3) ATE A
(4) WIaEed uHT

169 Chemical formula of chlorophylf - a is - .
(y C,H, O N, Mg 2y C,H, O, N, Mg

3) C.H, O, N, Mg (4y C.H,O, N, Mg
A fEE - a T TenuTs gEoE

(1) C.,H, O, N, Mg (2) C.,H,O0 N Mg
(3) C.H, O N, Mg 4) C, H,O, N, Mg

OP18_Al . 225 [IRHRARAR tConed...



110 End products of light reaction in photosynthesis are -

(1) ATP only © (2) NADPH, only
(3) NADPH, + ATP -(4) NADPH, + ADP
wepleT e H waieh arfhea & et S ¥ -
(1) &ae ATP (2} e NADPH,
(3) NADPH, + ATP  (4) NADPH, + ADP

111 During cyclic electron transfer, electrons liberated by pigment system - 1 are
' first accepted by -

(1) Cytochrome system. (2) Ferredoxin
(3) Plzistocyanin (4) Plastoquinone :
HA FOAEH WFTI0 &l AaY H, guie Red - | § g9 57 geee] =t

(1) wEemE fwed S ® LXEIC
(3) wEEEtE (4) <AL

112 In photosynthesis. oxygen is liberated during -
(1) Calvin and Benson cycle |
(2) Hatch and Slack cycle
(3) .Cyclic electron transfer

- {4) Non - Cyclic electron transfer
TeRIST Hywwol ¥ oifedis ga B ¥
(1) wvas g 999 T & ara-

(2) W9 wEE W dH G
(3) R IRE W F S
(4) SIERN THF WY & QG

113 First stable product of dark reaction in photosynthests 1s -

{1} P.hospho - glyceric acid (2)  Phospho - glyceraldehyde
(3) TFructose 1, 6 - diphosphate (4) Fructose 6 - phospha.te '
wepTeT Hewwor F arenisli aifufem a1 wam wel Sme e 3
(1) wien wigafes e (2) wre fermafeess

(3) FHRS I, 6 - SEHIEHS  (4) FIE 6 - Bihe

dli

OP18_A] % TSR Coned...
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Which one of the following is a C; pla.nt

(1) Maize (2) Mustard
(3) Chick pea (4) Pea
Prfefed § & C, TEY ¥ - |

(1) W= (2) &af
(3) T (4) WX

Which of the following isotopes are used in the investigation of the
mechanism of photosynthesis ?

(1) C* and O _ {(2) C"and O"

(3y P"-and O (4) P¥ and OV

fFrfefad ¥ @ o9 ¥ aens gwe GyeeT e iy sgEem ° 9y
ford 9T & - _

() Cc*= 0" (2 Ccrgov

G) PUaOn @) PEFON

Which is a limiting factor for the process of photosynthesis in irrigated crop
plants during normal day light conditions 7

(1) Light

(2) Temperature

(3) Carbon dioxide

4y Water _

gt & % v & ot W Rifuw wue wew o wentyt dyewor fp ¥
Aeprl HH A o E?

(1) W&

(@) am

(3) HEW TE SFEES
(4) W&

Auxanometer is used to measure -

(1)  Auxin concentration (2) Enzyme activity

(3) Differentiation (4) Growth

STERIEIEY TgF fpa S & -

(1) oIffeed gl 99 &g (2) UeagH e " 3
(3) fadew w3y (4) 3fg "t 7Y

OP18 Al | 27 (UG (coned....



118 Which one of the following is a synthetic plant hormone ?
(}) Ethylene
(2) Gibberellic acid
(3) Indole Acetic Acid _
4) 2, 4 - Dichlorophenoxy acetic acid
frfofaa & ¥ deaifa oy s@i+ dF-¥1 § 2
(1) 39EM '
(2) fafws sra
(3) eI Tfifew orw -
4y 2, 4 - SEFERERSTRT gales s

I19  Which one is a gaseous hormone ?
(1) Indole Acetic Acid '
(2)  Gibberellic Acid
(3) Ethylene
(4) 2, 4 - Dichlorophenoxy acetic acid
Ty gl ST E 7
(1) 3oeid ufgfesn o
(2) Tefas e
(3) s
4) 2, 4 - sdFERTeTERN TRifes e

120 - Which growth inhibitor is responsible for delay in senescence ?

(1) Abscisic Acid (2) Gibberellic Acid
(3) Ethylene __ (4) Kinetin .
Hi-a1 ghg Frase sivtar # 37 g Sawert gar § 7
(1) ufEfes o= (2) Twdfws e
(3) g | (4) wfe

121 Movement of pollen tube towards ovules is termed as
(1) = Chemotropism - (2) Hydrotropism
(3) Rheotropism (4) Thigmotropism
T ARl B oSl @Y SR T W, wEwe ¢ -
(1) TERgads (2) ST
(3) wEaEds (4) wsiHadR

013 ) 28 A (Conta..



122 Nodules with nitrogen fixing bacteria are found in the roots of -

(1) Beet root (2) Pea

(3) Mustard _ (4) Sugar cane
Tz el el @ wRuwT T sl ¥ -
(1) P B S/ 4T (2) e W e W
(3) TxE W §Ef W (4) T B TS W

123 Which one of the following instrument is used to study geotropic
movements ? ‘

(1) Galvanometer ' (2) . Photometer

(3) Clinostat (4) Thermostat

P & & -1 T eI TR % e ¥y wgad R s 2 7
(1) Trea=R | (2) WM

(3) FEFART @) sHRT

124 Which one of the following is a free living nitrogen fixing bacterium ?
(1) Azoiobacter
(2) Micrococcus
(3) Rhizobium
(4) Thicbacillus _ .
frafafag § € B9 @@ B N WHT, TELeT RUJBI0T HAal
Stramy &2 |

(1) gweRwE
) "B
3y uswifeTT
(4) grEETgay -

125 Thick layer of cuticle and sunken stomata are characteristic features of

(1) Hydrophytes (2) Mesophytes

(3) Sciophytes (4) Xerophytes
wfemn B A wa 7 ey fifine wao ¥ -

(1) wgiTE Tedt & - (2) wHEYE TEd %
(3) BERTT UEdt & (4) AEINE TET %

OP18_Al 2 AERTEHARNG 1eoned.



126 Presence of aerenchyma and less developed vascular tissues in plants is an
adaptation for

(1)  Aquatic habitat - (2) Mesic habitat
3) Séline habitat (4) Xeric habitat
T ¥ argae @ SARuRT T arew fmfy daell Saw eged & -
(1) v e g (2) ¥H el ¥
(3) wWouim omEEl &g (4) 9k AR TG
127 Which one of the following has hefer-ophy]lous habit
(1) Hydrilla (2)  Limnophylla
(3) Potamogeton 4y Fallisnaria
Prerffa % @ froquell Tk S ¥ -
(1) eTier ¥ (2) Reefiear §
(3) T ® . @) et o
128 Plants that grow best under direct sun hight are
(1) Halophytes (2) Heliophytes
(3) Hydrophytes {4) Sciophytes
qrey W WY g vt ¥ T ool ave 4 9 %, dEAl T -
(1) wesigfh (2) emdigfie
(3) wrargfue (4) BT

129 Inspite of abundant water present is the soil near seashore, plants growing
there show xerophytic features, because the seashore soil has -

(1) High field capacity (2) Low field capacity
(3} High salimty (4) Low humus content

oz el @ B ¥ safie wiw SuRdld & SEsE gl S An uEy
Fegig waw yaiila wid ¥, @iis 9% ARl & ga ¥ g ¥ -

(1) ==9 98 @ g (2) &Y HE I@ eI
(3) S=a wavliEal (4) oY Y HET

130 Leaves of rooted ﬂ_oating hydrophytes have stomata
(1) On abaxial surface only . {2) On adaxial surface only
(3}  On margins only | {4)  On both the surfaces
(1) &ad sTdiel §ag 9T (2)  FHE e wdE Y
(3) Haw e OY (4) < waEl U

OPI8 Al | R (IR 1Coned..



131 The water which remains adsorbed on the surface of the soil particles is

known as

(1) Capillary water (2) ‘Gravitational water
(3) Hygroscopic water (4) Run - off water
e H A wde UX St e S wEe § |
(1) &y o1 (2) TEAE ST

(3) ANEATIR §A (4) G W

132 Vascular tissues are very well developed in

(1) Epiphvtes (2) Hydrophytes
(3) Parasites {4) Xerophytes
e o gREE B E -
(1) orfy-urd F (2) vmrgfhe wedl 3
(3) TRt wEEl o (4) g grEE #
133  Water holding capacit)'!'is maximum in -
(1) Clay soil (2) Gravel soil
(3) Loam soil (4) Sandy soil
(1) Fomd Bt & @ A
(¢) 3wt A | (4) =g e A
134 Which one of the foliéwing is a free floating hydrophyte ? -
(1) Hydrilia (2y Utricularia
(3) Vallisnaria (4) Wolffia
Prefifag ¥ § @ @@ TRGWE T -
(1) swElar ) gRgafar
(3) SfrAfar (4) fewar
135 Which one of the fbllowirig is a xerophyte ?
()Y Lemna | _ (2) Nerium
(3) Nymphoedu (4) Pistic
frafofad § & oeghE § - |
() @@= ) A
(3) Ffimar . | (4) fifear

OP13 Al 31 (WL [Contd.-..



136 The first biccide used in large quantity was

(1) DDT ' (@ 2,4-D
{3) . Mercury 4y Methane
qom SEeT, e wgY A ¥ IuanT 3 -
(1) A (2) 2, 4-%¥r
(3) W (4) W

137 Which one is always present in phorochemical smog ?

(1) Phosphorus (2) Methane

(3)  Aluminium ions (4y Carbon monoxide
frafeflaa o @ @ ury Terate oo § 939 SuRem e 37
(1) ®ienkg (2) degq

(3) TRHTTR SmT (4 wET WEeaEs

138 Which one of the foliowing is the most effective method of species
conservation 7 :
(1) Census the species during the breeding -season
(2} Preserve habitats
{3) Removal of predators
{4)  Vaccination against diseases _
fretfafaa o 4, yofq dvew A gaifye g fafy we-d &0
() 9591 %G § WS Bl TIOR3
(2)  SITETAT &1 HIEO B
(3) uTaRAa B FE
(4 W T Fuwr Y HERERT ST

139 Most primary procﬁ.n_cti’vit}-' in the surface waters of lakes and oceans is by -
(1Y Red and brown algae (2) Floating plants
(3) Zooplankton (4) - Phytoplankton
A T BT & Tsl § § qAIaE YHHE SAEEal By ¥ -
(1 @ g gy fee | (2) e UEd §
() Wl W st § (4) URY WEB |

140 Aquatic ecosystems cover approximately how much of the earth's surface ?

(1} 25% 2) 40 %

3) 75 % (4) 96 %

gl &) wwE ot e T afvert s witRafes @ @ o &
(i) 25 % 2) 40 %

(3) 5% 4y 90 %

ors.al | 32 IR (Contd...



141 Warm air rises to cause a region of low pressure (the doldrums) at -

(1) O° latitude (2) 30 latitude

(3) 45° latitude (4) Q0 latitude .

T 7 HUE B SN ISHT HH A H A (SIAEH) SO ®Hdl § -
(1) 0 areiE ug (2)  30° snarrg qY

(3) 45° AT .U (4) 90" FE 94X

142 Dry climates typically occur at -

(1) O° latitude (2)  30° latitude
(3) 45° latitude (4y o0° iatitude
(1) 0° &TH UT | (2)  30° LW Y
(3) 45° &y 97 (4) 60" &f&ig ux

143 The largest reservoir of sulfur in the biosphere is the

(1) Atmosphere {2} Ocean

(3) Organisms (4) Rocks

(1) =mgHs (@) e

@) @ @) e

144 The main nitrogen reservoir in the biosphere is the -

(])' Atmosphere . {2} Ocean

(3) Organisms {4) Rocks
Srerved N RGBT qeT s E

(1) =rgeves (2) AT

(3) st - @) uye

145 About how much of the solar energy that falls on the leaves of a plant is
converted to chemical energy by photosvnthesis ?

N 1% () 10%

G) 30% ) 0%

yral U} U=Y 9T SR Sl B H09 RS WRISE WA Weplel §IRwr g
TETERE et ¥ e & Wi &7

M 1% 2) 10 %

G) 30 % ) 30 %

oris Al B R g coned.
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The rate at which light energy is converted to the chemical energy of organic
molecules is known as ecosystem's - _

(1) Net. primary productivity (2} Net secondary productivity

(3) Gross primary- productivity (4) Gross secondary productivity

79 X q IS S 1 HEGH S B THEE Sl b 89 §, T
A1 &, Feowd &, wiRaRE-w= B |

(1) T wahes Saesa (2) = fafrae scmEsar

o I

(3) e YTiHE I (4) Uw TEIG®H IUEHAT

Energy and nutrients enter a community by way of the -

(1) Producers ' (2) Consumers

(3) Scavengers (4) Detritivores

it o draet @ U wgeE W yay g ¥ -

(1) w@E® & g7 (2) SuuEEE ® TR
(G) oSl H g’ (4)  wERieEl % Er

The sequence of species through which the organic molecules in a community
pass is called a

(1) Pyramid of energy (2) Food chain

(3) Food web ' (4) Nutrient cycle
@wﬁwﬁu‘rzﬁra@mﬁw@ﬁmmﬁtﬁ agaﬁwwﬁmwz’m
¥, wEAR ¥ -

(1) =ut & i (2) sfmsiw

(3) W W (4) UYE TEH

A group of inter connected food chains is called a

(1) Pyramid of numbers (2) Food cycle

(3) Complex food chain (4) Food web

(1) wenslt &1 frhe (2) W uH

(3) wifeq W @ (4) we IS

Which of the following organisms will be the first to colomze a bare rock ?
(1) Annual plant (2) Bienmnal plant

(3) Perennial plant (4) Lichen

Prafifag § @ -8 R, @mﬂqﬁﬂwwﬁqmwﬁ {(SuiETI)
Ba ¥ 7

(1) TmHadrg TR - (2) Tt uey
(3)  wgadiy urew (4) wmEhI

OPI8_Al 34 NNy (Contd...
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The swiss biochemist who in 1868 discovered DNA was

(1) Alfred Mirsky (2) Friedrich Miescher

(3)  Max Delbnik (4) Robert Feulgen
Reaesriave derrdl sva wamates, e 1868 # Y. uA. 1. @ @i @, 9% 1
(1) wehs P (2) BEE@ ARER

(3) Aw ITILH (4) TEE wARH

The experiment in which it was shown that DNA is the genetic material in
bacteriophages is the

(1) Delbriick - Luria experiment

(2) Franklin - Wilkins experiment

(3) Hershey - Chase experiment

(4) Meselson - Stahl experiment -

Tz WM RS g 9 goi T R S 1. T sieny SRl § A
weref B T, qEE

(1) swgds -~ qim gam

(2) wiwias - Toakess 9=

() wigt - O owEm

(4y Thawes - =@ g

Genetic information in a DNA molecuie is coded in the
(1) Sequence of nucleotides

(2) Base pairing

(3) Proportion of each base present

(4) Turning pattern of the helix

o & T o H SATaiiien e gied e ¥ -
(1) gheriegs! & &9 & T4 F

(2) @R gl ok ®AH

(3) SURYT TA® AR B U * w9 H

4y pefoit & gama det F wT A

In the double - helix model of DNA, each pair is how far from the next
base pair ?

(1) 0.034 nm (2) 0.34 nm

(3) 3.40 nm (4) 34.00 nm

& w. u % Ty ogedl Aew A, ue A g, e &R g § e gl
EL-C U S ' -

(1) 0.034 nm (2) 034 nm

(3) 3.40 nm {4) 34.00 nm

h
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If the sequence of bases .along one side of a DNA molecule is AAGCT, then
the complimentary sequence of bases on the other side of the DNA molecule
will be -

(1) AAGCT (2) UUCGA

(G) GGTAC (4) TTCGA

af S T T Sy B TH T B peier § e B wA AAGCT & @
& T, W ] @ qEU GG B ST H WY AR B BA W~
(1) AAGCT (2) UUCGA

(3) GGTAC 4) TTCGA

The basic monomers used in DNA replication are -

(1) Amino acids- (2) DNA nulceotides

(3) Glucose (4) RNA nucleotides

<. T, v giaglhr ¥ uge o afw e 6l § - |
(1) = _ 2) . wA. T ghrEeEs
(3) T 4) R T T. YlrwdeEs

In DNA replication, the Okazaki fragments on the lagging strand are joined
together by -

(1) DNA ligase

(2) DNA polymerase

(3) Helicase

(4) Primase

3. T, U wih §, uyaedl wdl W sl @UE e § SIS 9§ -
(1) €. T T AEe %5 AL

(2) €. T T GEES B &

(3) RS & A

(4) 9B & &

Of the 64 codons, how many code for amino acids 7
(1 31 . (2 M

(3) 51 4 61

64 R F A, orie anl B Roe R B E 7
(1) 31 : (2) 41

(3) 51 - {4) 6l

OP18_Al % | R (Conta..



159 A virus that can reproduce without killing its host is called a

(1) Lytic virus (2) - Retroactive virus
(3) Temperate virus '(4) Virion
e fawrey, o fyar ewd AW F oA, I9F HT FHA 7,
IE PHEwE § — | ' |
(1) wae faumo (@ T famyg
(3) waafywsh faurg (4) Tafrsim
160 Mendel published the results of his experiments in the year
(1) 1575 ' (2) 1766
(3) 1866 (4) 1919
Augd ¥ oo WA & Frepd g el
(1) ay¥ 1575 o (2) a9 1766 ®
(3) af 1866 ® o (4) a9¥ 19199
161 The offspring of cross between two pure strains are called
(1) hybrid (2) = Mutants
(3) P generation (4) F, generation
a1 UNE F B Y I Gl HEAH & —
(1) ¥®e - (2)  wfEdl

(3) PR (9 F, W

162 One of Mendel's pure strains of pea plants had green seeds. How many different
kinds of eggs could such a plant produce with regard to seed colour ?

(1 1 (2) 2

(3) 4 | 4 8 .

Yvew % TH IS YHE 9T HeX F I 5L LT F A b 0T &b d@ed W uH
HeX &1 Wen fopa Wb % 9108 g H¢ Gendll o417

(1) T 2) @

(3) =T | 4) s

163 An organisms with two similar copies of same allel for a trait is -
(1} Homologous for that trait (2) Homozygous for that trait
(3) Heterologous for that allel (4) Heterozygous for that trait
uH e S Rrad ww e 3g A0 gefyeed @um iRl % wu ¥ @,
HEART & —
(1) I9 99 3 T (2) T TG TG THIHA
(3) d® @ gy fwwea (4) < @ ¥g fawrgersi

OP18 Al 37 ARG (Coned..
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How many different kinds of gametes can a plant of genotype AaBBCc
produce ?

(1 3 2) 4

3y 9 ' (4) 16 |

& AaBBCc ST W&y a1el ey, Reee Fafie=T vt & goaes Sors i Hendl ¢ 7
(1 3 @ 4

3) 9 (4) 16

In Mirabilis jalapa, when red flowered plant is crossed with white flowered
plant then offspring have pink flowers. This type of phenotypic expression
is called -

(1) Co - recessive (2} Co - dominance

(3) Incomplete dominance (4) Dominant - recessive_

Brefafirg sremar o TF W 07 % IO 9 TE 61 36 TH W 1 % goi
AT WY W hiE BT WA S, A STl Gy § e 7 % GO Ss B
T T THR H THI YET B FEd § -

(1) 9% - qumEl (2) WE - WHIE

(3) ergel g C (@) wuE - erwrE

Genes not located within nucleus are almost always found in the

(1) Cytoskeleton . (2) Cytosol

~(3) Cell membrane - 4y Cell organelles

q W S HeEe U Rug 98 T, TN 989 U 9wl @

(1) gt H | (2) wEdEd W

(3) " wifyret foeelt § (4) HIfyEi H

When a mutation is limited to the substitution of cne nucleotide pair for
another, it is called. a

(1) Base - inversion : (2) Point mutation

(3) Sugar - phosphate deletion (4) Translocation

SIg U SWNEET B U OwdiEs I F eI 9% ST 31 9 98
HEAR & - -

(1) & wfaeras | (2) fog sefeadw
(3) 9RRT - WIERZ Ta@iu"  (4)  WERR

OF18_Al 38 UM HOAIY - t<oned...
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Charles Darwin's book "on the Origin of Species by Means of Natural
Selection" was first published in the year -

(1) 1779 : (2) 1821

(3) 1859 (4) 1901
ﬂaﬁiﬁﬁw“amﬁaﬁﬂm?ﬁsﬁﬁm%ﬁmmﬁgﬁ
Yoy T 8§

(1 ag 1779 & (2) Eré 1821 &

(3) =¥ 1850 % (4) TF 1901 o

According to Darwin. two different areas within a continent have different
species, because they have different -

{1) Environments

{2} Ancestors

(3} Evolutionary mechanisms
(4) Evolutionary times _
SR 3 ST, e weTd 3 o Ryt s ¥ Fafte T a8t s Wi T
¥, FitE 3 Taw & o

(1) v a9 sty %)

(2) ydw e Er

(3) Tamrres yRearr fre R )
(4) T g e Ed B

The most important evidence since Darwin that bears on his theory has been
in the area of

{1y Cytology . , {2) Genetics

{3) Comparalive anatonmy {4) Comparative embryology.
qTd weIgel W S A AR ¥ W @ F ¥, gw ow -
(1) @i fagm @1 & (2) srgaifiemt @1 &=

(3) FaETES T H A (4) gATERE HTE @7 e

The unit of evolution is now known to be the

(1) Individual (2) Fanuly
{(3) Populatibn (4) Species
a9 Ty # e W W T

() dgieas (eieaTd) (2) P
(3) W @)y

o134 | » IR (Covta..



172 The unit of natura! selection is -

(1) Species ~ (2) Population

{(3) Family (8) Individual

T TET B FE E -

(1) wea (2) wafE "

3) g« (4) s (eferT)

173 The branch of biology that emerged from the synthesis of Darwinian evolution
and Mendelian genetics is '

(1) Bacterial genetics - {2) Cytogenetics

(3) Population genetics (4} Species genetics |

SArafEr & =8 o, ﬁmaﬁm*ﬁqﬂmﬁﬁaﬁmaﬁ%‘mﬁwﬁw
% WeAsY W o 9% ¥ -

(1) - St sgaiiie (2) Wiy

() A At (4) wetr smeeifyE
174 The total collection of genes, at any one tine, in a unit of evolution is
called the -
(1) Gene expression {(2) Gene pool
" (3) Genotype {4)  Demotype-
W W | A, f‘cﬁﬁrmﬁmu‘{ [BEats aﬁ*fgzﬁrs‘ﬁ@m%
T FHEAT € -
(1) i erfiyerdRran (2) S W
(3) AR (4) SHREREY
175 Adaptive evolution is also known as -
(13 Micro evolution (2) Macro evoluticn
(3) Radiation | ~ {4) Speciation

orpel R -

(1) ge e N wET I R (2)  gE R F @R SR

176 Natural selection acts on an organism’s _
(1) Dominant allels (2) Recessive aliels
{3)  Genotype {4) TPhenotype

TR T TWE T ¥, G A9 % -
(1) wwrh g el W (2)  awarEl g Rreed 13
(3) WH vEY U (4) T WEA T

OPIE_Al 40 IR fConed...



177 Members of a biologic species are pofentially able to -

(1) Compete (2) Express all the genes
(3) Interbreed ‘ (4) Intermix
e IRE gl % gew gl | e B ¥ - |
(1) wmuf FW ¥g (@) W @ e B g
() oFm-gHTT ¥ 0000 (4) srdnies ¥
178 Rotenon, an insecticide is obtained from

| (1)  Azadirchta Indica (2) Cmmﬁ tiglitm

(3} Derris trifoliata (4)  Nicotiana fabacum

A, e, ¥ - |
(1) gofiger sRar1 4 (2) @#T Rafgm e -

() &Rhg grwifrder & (4) Fraifegrr 2da7 F
179 Which one of the following is the source of palm oil ?.

(1)  Elettaria cardamomum | (2) IFlaeis guf.r-reensf&

(3) - Alstonia scholaris (4) Anethum graveolans

Preafafar ¥ § W AW & G BT E?

(1) sder @sfamy ()  FEEd A

(3) eneeiaT wWlRid (4) Tt g

180 Which one of the following is a rubber yielding species ?

(1} Acorus calantus (2) Alpina officinarim

(3) Helianthus annuus (4) Hevea brasiliensis

frfafaa & ¥ (@2 IARH U HE-d 37

(1) ke Famg @) gl sifeRETT

(3) g ggerg (&) g SRt
181 Pulses belong to family -

(1) Fabaceae {2) Malvaceae

(3) Papaveraceae _ {(4) Polygonaceae

(1) el pa g (2) Twad B A

(3) UUEE HE ° (4) umAE A d

OP18_Al | 4 TG (Coned...



182 Botanical name of 'Teak of Marwar' is -

(1) Acacia catechu 2) | Caesalpinia sappan
(3)  Tecomella undulata 4y  Toona ciliata
‘RS S GRE” &1 I T § —
() g@hmEr aeg (2) Ryserdifrar @ov
(3) TrEmE e (4) g dferder

183 Which one of the following is a surface fibre yielding planf
(1)  Gossypium herbaceun o (2) Linum usitatissimum
(3)  Seshania bispinosa (4) 1ipha australis
Frafaiad @ @ g5 1 SORE URY § -
() e sdfem () T gERRRE

(3) dwifyar SsErsTEr (4) zZEwr gigfrg

184 Which one of the following countries, is the centre of origin of rice ?

(1) China (2) 1India
- (3) Indonesia (4) Russia
Frefoflad 4 9§ -1 21 @@ & safa @ F=w T 7
(1) == () Wra
(3) sF=riyE (4) =9
185 Botanical name of Green Gram is -
(1) Fgna mungo 2) _ Vigna unguiculate
(3) Figna radiata (4) Vigna aconitifolia
CURCIRC IR T i | - -
(1) frer g C () R osggder
(3) o Hsder @ fera1 gaifiewiterar
186 Potato is native of
(1) Brazil (2) Mexico
(3) Panama - (4) Peru
() wni| | @) AR
(3) wEE ' @) B

OPI8 Al | 42 R 1Coned...



187 Litchi is native of _
(1) China (2) India

{3) - Russia "~ (4) United States of America
Al §™ Prerrdh ¥ - |

(1) AT B (2) UG B .

3) @ (4) wgE Ty ST @l

188 Botanical name of nutmeg is -

(1) Pimpinella anisum (2) Mpyristica fiagrans
(3) Murraya koemigii (4)  Cinnamomum tamala
TAREA B qFERE TE T -

(1) frear gfiaa (2) FERiez 39

®) g Rt (4) R

189 Chocolate is obtained from -

(1) Cola acuminata ' (2) Cola nitida

(3) Thea sinensis ' (4) Theobroma cacao
TiHee YT Bl & - |

(1) @iar gaghrler 9 Q) T AERET R
() Prar afaa | (&) frmwir FTE

190 Morphine is extracted from -

(1) Atropa beladona | (2) Aconitum nepallus -

(3) Hyoscyamus niger (4) Papaver somniferun
A Preepiia @ S E - |

(1) gghar darstr @ (2) wezey framgd 8
(3) erErarREE TN (4 wdaT TG @

191 Asafoetida is obtained from the species of

(1Y Ferula . (2) Foeniculum

(3) Trachyspermum (4) Trigonella

AT U B E - |

(1) SeEar W 9 (2) wigFiged TRk q
() Shradg wsiy & () R Tt/
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192 An important alkaloid found in the roots of Ashwagandha is
(1) Reserpine : (2) Ajamalinine
(3) Scopolamine ' (4) Somniferin
ST I Jell § T ST AW U TEeqy Tehwiss & -
(h TdE (2) USRS
(3) wRIUEE (4), "=BRE

193 Which of the following are important medicinal plants growing in Rajasthan ?
(1) Aconitum and Rawvolfia (2)  Atropa and Digitalis
(3)  Swertic and Erythroxylon  (4)  Withania and Commiphora
Fretfifad ¥ & T ¥ TR Teal oty aeg d-d E 7
(1) USifF7eT a UFaifecedr 2y Tl a Rfdfra
(3) @rPwr = Ryfmatr (@) Refyar 3 sHwh

194 Main alkaloids present in Datira are
(1) Ajamalmine and Yohimbine
(2) Nicotine and Nornicotine
(3) Scopolamine and hyoscyamine
(4) Somniferin and Sommiferinine
SZU ¥ U WH A Y@ UwhweEd ¥ -
(1) oemfET g Afemds (2) feds T e
(3) T 9 TEEEEE (4) SRR 9 St

195 Botanical name of Tea is

(1)  Cichorium intybus (2)  Camellia Sinensis
3y  Theobroma cacao (4) Terminalia bellarica.
AT T RS Y - |

() wifay gemgg (2) @Ffrr grHfaa

(3) FRigh srarsn (4) iRk darfm

196 Which one of the following trees is a multi purpose utility as well as State
Tree of Rajastan

(1) Mesua Ierrea (2)  Prosopis cineraria

(3)  Shorea rohusta 4 Xylia Xylocarpa
Fretfetes gaf ¥ § sgwism Sl o wy ¥ eRew @ T gu
BT WME ? | |

(1) dger SRar (2) sl R
(3) Hﬁﬁw Teareer (@) wmfen s
OP18_A} 44 (KLY 1Cored...



(97 Match List - I with List - 11 and select the correct answer by using the codes
given below the lists :

List - 1 | List - 1
(AY Capsicum mr)nmm (i) Chillies
(B) Cuarthunus tinctoriis . (ii)" Turmeric
(C) Crocus Salh-w.\' (it} ol
(D) Curcama fonga : (iv) Saffron
Codes : |

A) B) © O
)y Gy Gy G @
@ () 0O ) @)
() G v G 3
W G G ) ()

@-ia@-liwﬁaﬂﬁﬁﬂﬁamgﬁnﬁm%ﬁwaﬂémmﬁmm
mﬁwmwsﬁﬁr&i

T - ) R - 1
(&) Ffgsy TIaT (iy B,
@) @ Fwiay (i) swal
(@) HIFT TETE | (iii)‘ e

@ gFwam (iv) ¥R

-

Hig

(0 @ @ @
(1) @) @) vy @)
(2) () () (i) (v)
3y () (v () (i)
@ @ () Gv) @)

OPIS_A] 4

L7 3
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given below the lists :
List - 1

(A) Vegetable

198 ‘Match List - I w1th List - II and select the correct answer by using the codes

List - 11
(1) Zea mays
(i) Spinacia oleracea
(i11) Annona squamosa

(iv) Corchorus capsularis -

(B) Fruit
(C) Cereal
(D) - Fibre
Codes :
(A) B) () (D)
) ) Gi) O )
: 2) (ii) (iv) I(iii) (1)
G v G O G
(iv)

)

(i) i) ()

W - 13 - 1 T B aiery qen gy % A @ @it & s @i

B HE ITX W GG I |
T - 1 T - 1
@) "= W Reraw
@ wa (i) @R eferiar
(@) o (iii) g7 R
@ Yom (v) BoRE Segefa
o | |
@ @ @ @®
S ()G D @O )
(2) ) Gv) () @
(3) (v) fiii) @ ()
@ (Gv) () 3D @) _
OP18 A] 4 MY Conta.



199 Assertion (A) : Embryo is formed in nyophytes and Pteridophytes.

Reason (R) : Bryophytes are non-vascular plants but pteridophytes are vascular
plants. ' '

(1)
©

(3)
(4

Both (A) and (R) are mdmdually true and (R) is the correct explanation
of (A).

Both (A) and (R) are individually -true but (R) is not the correct
explanation of (A).

(A) is true but (R) 1s false
(A) is false but (R) is true

TyTaT® B (A) ¢ aﬁma%ﬁ@ﬁmﬁa{wwﬁnﬁwﬁm%l
% (R) : TEGEIE SREET wEy ¥ Uty RErmEed g uey ¥

(D

3
(4)

aﬁa‘fs“r(A)a(R)wﬁmawﬁrw%am(R)vé‘rwm% (A) ®T1

T R, (A)a(R)w%ﬁrmwﬁw%lmﬂ(R)aﬁmﬁ
E (A) B

(A) T ¥ T (R) orged ¥

(A) orEd ¥ UGg (R) 9 B

200 -Assertion (A) : In Bryophytes Pteridophytes and Gymnosperms egg is plesent_
in archegonium. .

Reason (R) : Structure of archegonium is similar in ali these plant groups.

(1
(2)

-3
4)

Both (A) and (R) are i'ndividually true and (R) is the correct explanation
of (A). '

Both (A) and (R) are individually true but (R) is not the correct
explanation of ‘A. '

(A)-is true but (R) is false
(A) is false but (A) is true

PyoawHE HUF (A) ¢ amm%ﬁ%ﬁmaﬁﬂﬁmﬁﬂﬁmﬁmﬁ’rﬁ
Sufted TEar &1

b (R) @ 37 % wey aEl ¥ U @ g aue 9 E)

(1)
(2)

. (3)_ -

(4)
OP18_A|

éﬁ*ﬁ(A)a(R)’mﬁﬁawﬁw%am (R) €8 SATRTT & (A) &l |

4 A, (A)a(R)wﬁﬁrﬁrwnwoluﬁ(R)aﬁmﬂ?ﬁ
¥ (A) B

(A) o & ut] (R) o6 ¥
(A) o8 ¥ T (R) € B

v IR 1Comed-.
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